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In Theorem 7 of Lieberman and Phillips (Journal of Econometrics 196
(2017), 99-110), it is stated that µ̂n ⇒ µB (a,Σu), where

B (a,Σu) = H∗a (1)− a′
∫ 1

0

H∗a (r) dBu (r)− 1

2
a′Σua

∫ 1

0

H∗a (r) dr,

and

H∗a (r) = ea
′Bu(r)

∫ r

0

e−a
′Bu(p)dp.

In fact, stochastic differentiation of H∗a(r) reveals that

dH∗a (r) = dr + a′H∗a (r) dBu (r) +
1

2
a′Σua

∫ 1

0

H∗a (r) dr,

from which it follows that

H∗a (1) =

∫ 1

0

dH∗a (r) = 1 + a′
∫ 1

0

H∗a (r) dBu (r) +
1

2
a′Σua

∫ 1

0

H∗a (r) dr,
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so that B (a,Σu) = 1. In other words, µ̂n is consistent and as a result
Remarks 9-10, which provide an alternative consistent estimator of µ, are
superflous. In view of the above

(
σ̂µε,n

)2
:=

1

n

n∑
t=2

(
Yt − µ̂n − eâ

′
nut/

√
nYt−1

)2
⇒ σ2

ε−

(∫ 1

0
Ha (r) dr

)2
∫ 1

0
H2
a (r) dr

Σ′uεΣ
−1
u Σuε,

Σ̂µ
uε,n :=

1

n

n∑
t=2

(
Yt − µ̂n − eâ

′
nut/

√
nYt−1

)
ut ⇒

1−

(∫ 1

0
Ha (r) dr

)2
∫ 1

0
H2
a (r) dr

Σuε

and consistent estimators of σ2
ε and Σuε can be obtained in a straightforward

manner by replacing
∫ 1

0
Ha (r) dr and

∫ 1

0
H2
a (r) dr by n−2

∑
Yt and n−3

∑
Y 2
t ,

respectively, and plugging

Σ̂∗µε,n :=

(
1− (

∑
Yt)

2

n
∑
Y 2
t

)−1
Σ̂µε,n ⇒ Σuε

into (
σ̂µ∗ε,n

)2
:=
(
σ̂µε,n

)2
+

(
∑
Yt)

2

n
∑
Y 2
t

Σ̂∗′µε,nΣ̂−1u,nΣ̂∗µε,n ⇒ σ2
ε.
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